MAN-X5SL-ENG-01

13

Standard 22

Overload Protection 22C
(Includes label 22CL)

© 2016 All Material Handling



X591 02250 X551 03928 XOSL0/036 X551 14000 XSS 20000
(1 Part) (1 Part) (1 Part) (2 Part) (3 Part)
1 P-L02250-15 P-L03528-1S P-L07056-15
1A P-L02250-1AS P-L03528-1AS P-L07056-1AS
*2 P-L02250-25 P-L03528-2S P-L07056-25
3 P-L02250-35 P-L03528-3S P-L07056-35
4 P-102250-45 P-103528-4S P-L07056-45
5 P-L02250-55 P-L03528-56S P-L07056-55
6 P-L02250-65 P-L03528-6S P-L07056-65
7 C5.7H17Z C7.1H20Z C10H28Z
8 P-L02250-85 P-L03528-8S P-L07056-85
9 P-102250-9 P-L03528-9 P-L07056-9
10 P-102250-10 P-L03528-10 P-L07056-10
11 P-L02250-11S P-L035628-11S P-L07056-11S
12 P-L02250-12S P-L035628-12S P-L07056-12S
13 P-L02250-13S P-L035628-13S P-L07056-13S
14 P-M8 WASHER LOCK-S
15 P-M8 NUT ACORN-S
16 P-L02250-16S P-L03528-16S P-L07056-16S
*17 P-1L02250-17S P-L07056-17S
18 P-L02250-18S P-L07056-18S
19 P-102250-19 P-L07056-19
*20 P-102250-20 P-L07056-20
21 P-102250-21 P-L07056-21
22 P-102250-22 P-L07056-22
23 P-102250-235 P-L07056-23S
24 P-L02250-24S P-L07056-24S
25 P-L02250-26S P-L07056-26S
26 P-L02250-26S P-L03528-26S P-L07056-26S
27 P-L02250-27S P-L035628-27S P-L07056-27S
28 P-102250-28 P-L07056-28
29 P-M6X12 HEXHD-S P-M8X12 HEXHD-S
30 P-M6 WASHER LOCK-S P-M8 WASHER LOCK-S
31 P-M6 NUT HEX-S P-M8 NUT HEX-S
32 P-102250-325 P-L07056-32S
33 P-102250-33 P-L07056-33
33L P-102250-33L P-L07056-33L
34 P-102250-34S P-L07056-34S
35 P-102250-35 P-L07056-35
*36 P-M8 NUT SLOTTED-9.55 P-M10 NUT SLOTTED-12S
*37 P-M1.5X16 COTTER-S P-M2X20 COTTER-S
38| P-NPL-X5SL02250 P-NPL-X55L03528- | P-NPL-X5SL07056 | P-NPL-X5SL14000 | P-NPL-X5SL20000
39 P-M2.5X6 SCREW DRIVE

*|Recommended Spare Part

MAN-X5SL-ENG-01

14

© 2016 All Material Handling



X55102250
(1 Part)

X5503528
(1 Part)

X5S[07056
(1 Part)

70 P-L02250-70S P-L03528-70S P-L07056-70S
*71 P-L02250-71S P-L035628-71S P-L07056-71S
*72 P-L02250-72S P-L03528-72S P-L07056-72S

73 P-M5X18 HXHD-S P-M6X22 HXHD-S

74 P-M5 NUT LOCK-S P-M6 NUT LOCK-S P-M6 NUT LOCK-S

75 P-102250-75S P-L03528-75S P-L07056-75S

76 P-M6 NUT LOCK-S P-M8 NUT LOCK-5 P-M10 NUT LOCK-S

80 P-102250-80S P-L03528-80S P-L07056-80S

| *|Recommended Spare Part

MAN-X5SL-ENG-01

15

© 2016 All Material Handling



IX5S120000
(3 Part)

P-L14000-70S P-L20000-70S

71 P-L14000-71S P-L20000-71S

*72 P-L14000-72S P-120000-72S
73| P-M10X30 HEXHD-S P-M10X35 HEXHD-S
74| P-M10 NUT LOCK-S P-M10 NUT LOCK-S

75 P-L07056-75S P-L07056-75S
76|  P-M10 NUT LOCK-S P-M10 NUT LOCK-S

77 P-L14000-77S P-L14000-77S

80 P-L14000-80S P-L20000-80S

| *|Recommended Spare Part

MAN-X5SL-ENG-01 16 (© 2016 All Material Handling



